
R = -7.74e-002 A*A + 1.68e+000 A + 2.46e-001
Coef of Det (r^2) = 0.990   Curve Fit: Quadratic

Method Name:  Z:\SVOASRV\HPCHEM1\BNA_G\METHODS\8270-BG112219.M
Calibration Table Last Updated: Sat Nov 23 00:54:00 2019
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R = 6.35e-003 A*A + 6.37e-002 A - 1.34e-002
Coef of Det (r^2) = 0.994   Curve Fit: Quadratic

Method Name:  Z:\SVOASRV\HPCHEM1\BNA_G\METHODS\8270-BG112219.M
Calibration Table Last Updated: Sat Nov 23 00:54:00 2019
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R = -6.64e-002 A*A + 1.06e+000 A + 1.46e-001
Coef of Det (r^2) = 0.990   Curve Fit: Quadratic

Method Name:  Z:\SVOASRV\HPCHEM1\BNA_G\METHODS\8270-BG112219.M
Calibration Table Last Updated: Sat Nov 23 00:54:00 2019
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